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3. Let G beagroupand a€G.
(a) Define “the centralizer of a”.
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(b) Prove that the centralizer of a is a subgroup of G. i) ;
Closett Toks Yoy in ThcemTeleze-oFQ  So ¥qza @59 Je2@d.
We Row Show togt XY & inToe Contefezecof-a la((

Q= x[ga) =xlag) = ey = @Ky =a(xgl, Ths Xy 'S
V) ; (144\)‘9 s

asseoc, 9FCC4) ¢ xeCcal

Tbe C&lﬂfb(;-}c; aq, e {ﬁ//s j'a :
Thotses pssyne X @ i 1t ton1ali 7% D‘F% Tleq _{Xf?»;? Tge L
x{xa=Y¥X"gx, $ G = X'ar, My lt/llf by X 50 @X=XTYs s
= / o .
1t cty (s 20 7 Q. ‘ . _
Ty idontlt) elensat pf & COMr1es “lh a, 5o T I denti #y el ene

(5 oA Z (¢3oc 9 Q.
(c) Let G= D4 and a = p. Find the cean%rag;:r of a. 7(—2" Coo T e
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